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Semester Final Review Part 1 Date _ Period

sraph the function and identify the key features. Approximate where necessary. Write intervals
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Sketch the graph. Then write the equation in all three forms.
5:\ 7) y=-x"-4x He é’/ 8) Vertex Form:
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Y‘. = (K +7—\1+ LI ‘\
Intercept Form:
¥ = = x(x Y

Standard Form:
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5!*'/ 10) Vertex Form:

e y = Gerny=4

Intercept Form:

y = (x+6)x+2)

Standard Form:

y= x4+ ¥+ 12

b‘é/ 12) Vertex Form:

6,61 ¥=3x-4)x-2) A A
Bum :‘ Y:BG&-S\ -5
5 Intercept Form:
: | y = 3 (x-4)x-2)
L TEARAE > Standard Form:
o THY y:%x"—l%*&+7f'*|
[
! .

Write the equation from the graph.
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Factor each completely.

2,7519) 4x” + 16x + 12 2.20) n® - 10n + 24

L((‘;(*‘S)(‘HQ (n-e)(n,q)

2,7 21) 5x% -38x+21 7,7 22) 15p* + 115p + 150

(5%-3)(-7) 5(3p+5)(p 6 )



F 23) 25x% -9
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25) x* -9

(x+2)-3)

27) 4k* +9

(2 +20)(zk-30)

O‘4’9) x?-13
(x+ ) (‘/;—5_\:;)

31) 16x* + 63

(4x + 2017 DHe-3107)
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24) 9a% - 16

(2o +uY(3a-4)

26) 50a° +2

2(5e i) (5a - 1)

28) 16x% + 25

CHA +5t)(‘ﬂx-5a)

30) 4x* - 12

(e T3 ) (x- 75)

32) x*+ 72
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“,2 Solve each equation by taking square roots.

33) -8x* =48 4) p’-8=284

We \ Solve each equation by factoring.

35) k7 +2k-3=0 36) x> - 14x +48 =0

k=1-3 x=% 6

37) K2 +4k-5=0 38) 3a° - 1la-4=0

\{\'1‘,"5 A = -"\g"’{ o

39) 6x2-15x-75=0 40) 7x® -3x-4=0

‘= =2 - -4
A= 7__’5 x'- "7]'
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¢ solve cach equation by completing the square.

41) @® +2a+ 50 =-10 42) n* +18n-21=-3
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43) p*-6p-17=5

@olve each equation with the quadratic formula.

WM 44) 3r* =-10r -9 45) Sp*+7p=-5

7 -7+ 5\
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3
46) 9k* - 9%k =3

k = 2k J2\
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